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Exponential and Logarithmic Functions o= &JL{.}U\g @aﬁ‘ umw‘
Exponential Function g ¥! aslal!
€ Y = COS y T I Sin y Euler’s Formula sl 4xua
e’ =e* cosy +ie”siny
d 7 Az
—€ =€
0z
yA JA l,+2 621 l,1—L 27l

ete 2 =12 | 672: Yy e’ =g’ 271 o052« @S

Polar Form of a Complex Number (saiall 2021l ol S

z =r(cos@+ising)=re'’
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Complex Logarithmic Function guadall is,lé ol sl

Inz =In|z|+i(@+27zn) , n=0,+1,£2,...
In(—=2),In(—1 — i) %ed 2a 5l :Jla
e In(=2) Jall

O=r,1-2=2 =In(=2)=In2+i(z+27zn) , n=0,+1,+2,...

e In(-1-i)

=22 21-il=v2 = In(=1-i)= Inf+|(7ﬂ 2 nj
n 2
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Solving an Exponential Equation dewl dJslas J>
e’ =\3+i , =7
=z =In(v3+i) 9:%,\ﬁ+i\=2

Z=In2+1 (%+2ﬂn);n =0,£1,£2,...
Principal Value 4wl dogall
Lnz =In|z|+i@ ; 0=Arg(z)

In(V3 + i) 5 <In(—2), In() 4 Las¥) Aol 251 200
Jal

Ln(—2)=In2+iz Ln(i):i% Ln(\/§+i)=ln2+i%
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Complex Power Function dadall 39all als

f(z)=z%=e*™ ;720

(2! dad aa gl
Jal)
- 2 2i.In(i)
| =

:eZi(In1+i(7r/2+27zn)) :e—2(7r/2+27rn) ‘N = O,il,i 2’”.

Nz e Yy LNz andie T (Z) = Z 0 4l Aadl) Claad Al
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s Trigonometric Functions 4l al gt

_ 1z _e—iz eiz _I_e—iz _
SINZ = - , COSZ = , L =X +1Y
21 2
Sinz 1
tanz = ,cotz =—,

COSZ tanz

1 1
SeCZ =—— ,CSCZ = ——
COSZ Sinz

sinz =sinx coshy +1 cosx sinhy
CO0SZ =Cc0SX coshy —isinxsinhy

‘ SiNZ , COSZ Unbounded s20me s
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Hyperbolic Functions 4,51 31 deakadll asl 9!
. e’ —e’* e’ +e’ .
sinhz = , coshz = ;L =X +1y
2 2
sinhz 1
tanhz = ,cothz = ,
cosh z tanh z
1 1
sechz = . cschz =—
coshz sinhz

sinhz =sinhx cosy +1 coshx siny
coshz =coshx cosy +1sinhx siny
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e ¢ =4 e c¢li=—1
Jal
e ¢ =4
T m .
z =In(4¢) =log, 4 + i (E - 2n7r) = 1.3863 + (E + 2’?’1‘}1‘) i
e o= —1
1 , . _ i
- = In(—1) =log, 1 +i(r +2n7) = 2n+ 1)wi ) 2 = @t n

a—l—ibdsmlnz«.—ﬁﬁ@
e 7=-—2+2i 02=\6+\/61‘

Jall

https://manara.edu.sy/ £



e 7=—2+2i

In(—2 + 24) = log,_ 2v2 +i (

Oz=\6+\/6i

In(v2 + V61) = log, 2V/2 + i (% +2n7) = 1.0397 + (

e 7=06— 01
e 7=6—06I

Ln(6 — 6i) = log, 6v/2 + i (—3) = 21383 — —i

4

[

6)jliaJl

%T + Qn’ﬂ‘) = 1.0397 + (

e z=(1+i)*

4

37
— 19 1
1 + HTT)E;

T
T .9 )
3—|—nﬂ'1

i) aaall 2sle ol Loule) Aol aagf
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0
e z=(1+1i)° 8ol
Ln(l + i)4 = Ln(—4) = log,. 4 + 7t = 1.3863 + ¢ |
ot Lo pid en J%J\@
—i)* (1 + i)
® ! ® (1 +1
(—1) ( ) N

(_,3:)4*2', — odi In(—1) _ e-ﬁhﬁ[loge 1+i(—5+2nm)] _ 6(2—8n)ﬂ'

o (1+pH""Y
(1+ Z-)(1+i) _ o(1+i)In(1+4) _ (1+i)[log, V2+i(F+2nm)]

— ¢loge V2—(F+2n7) [cos G +log, V2 ) +isin (% +log, \/5)} — 277102740 + 0.5837i]
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Integration in the Complex Plane S 6@‘ S gisd | 3 Ja S
s Jualy) ddascw adhaiall ty 2l

. . ‘ caaly e Jasew Jaiar Ll sasct ) dalaid) a

s Juaiy) sadnia ddlaiall F

cst (g (gl (JBY) e cpilia Ol Cinie Lol 2w ) dalaid)
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o)ioJl Contour Integral y=is s Jo KU

Ol Yaie «C Saaall e ALKl G f(2) =u(x, y) +iv(X, y) oS 13
jf (z ]z :j(u +iv )(dx +idy):j(udx —vdy )+i j(vdx +udy )

C

Loy ane inid) S
C:z@t)=x@)+1y();a<st<b

jf (z )dz :?f (z (t)).z'(t)dt
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Ciz(t)=z,1-t)+zt ;-o<t <o i

Ciz(t)=z,1-t)+zt ;0<t <1 s o Alal o) Aaiiunal) Aadadll
C:z(t)=z,+r(cost +isint) ;0<t <2rx 5l

C:z(t)=z,+re" ;0<t<2x
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NI Jal&al) 4 : a : JGa
jz‘.dz Cix(t)=3t,y(t)=t*;-1<t<4 - I
C -

Z(t)=3t +it* ;-1<t <4
= z'(t)=3+2it , f (z(@t))=3t +it* =3t —it°

4
jz—.dz =j(3t —it?)(3+2it)dt = 195+ 65i
C -1
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Cj)l.dz , C :x(t)=cost,y(t)=sint ;0<t <27 |
Z

C Iad
z (t)=cost +isint =e'" ;0<t <27

= z'(t)=ie" , f (z(t))=e™"

21
<j>1.dz = jiit.ie‘tdt =271
C z 0 €
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Properties of Contour Integral y=ic s Jo &I jolos

jk.f (z).dz:k.jf (z)dz
j[f (z)+9(z)]dz _jf (z)dz +jg(z)dz
jf (z)dz —jf (z)dz +jf (z)dz

jf (z )dz :—jf (z ).dz
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8 all (L ara sl Eua V) JelSEl) Al el 1l
Jal

¥y

[ (x*+iy?)dz )
j(x2+iy2).dz:j(xziiyz).dz + [(x?+iy?)dz uPE

C C, C,

C,iy=X =z(x)=x+ix ;0<x <1 =z'(x)=1+1

C, x=1=z(y)=1+ly ;1<y <2 =7z'(y)=i

j(x2+iy2).dz =_C[(x2+ix2)(l+i)dx +‘l[(1+iy2)(i )dy:nggi

C
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- Q@y\wm%\@
* [z —2)dz C x=—-ty=1t"+2,0=1=2
’fcl +de L7 =105 2 = —I ookl g dall sl el Chaill s (0 paid) s
Z N

2 2 2
2
/(25—2)dz=f [—t—3(t2+2)i](—1+2ti)dt=f (633+13t)dt+i/ (t2+2)dt=50+§0i
C 0 0 0
+ . . .
o fcl < dz z=el, —m/2 <1< )2 haal) pniall gl Alsladl) Ll
< dz = iet dt S

1 ?T/Q .
) _l_zd:z:—/ (l—l—elt)dt=(2—|—7r)z'
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v 6)Liall )
L4 Giball ISl ) sl e 55(22 — 1)dz i «.—\m‘@
C
Jad)
-1 . Gliaie AU ) Jazall sl f3a0
1 :

%(Qz—l)dz:/ (2z—1)dz+/ (2z—1)dz+/ (22 —1)dz
C Cl Cz CB
1
Cry=00<z<1, 2=z dz=dr, (2z—1)dz:/(2x—1)dx:0
0

Ch
1 1
Co,z=1,0<y <1, z=1+1y, dz:idyﬂfcz(QZ—l)dZZ—Q/O ydy+i/0 dy = —1 +1i
0
Csy=a,z=2+ir,dz = (1+1i)dr ) (22—1)dZ=(1+i)/(2x—1+2ix)d3:=1—i
C3 1

j£(2z—1)dz=0—1+7;+1—z'=0
C
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